
SC-18-044

CR zone allows for proposed use. 1.5 sq ft wall sign/frontage up
to 300 sq ft.

By:Nina Ruiz
Date:07/30/2018
El Paso County Planning & Community Development

Approved



WEST ELEVATION EAST ELEVATION

Sign 1 Sign 2



Note:  This sign is intended to be installed in accordance with the requirements of
Article 600 of the National Electrical Code and/or other applicable local codes.
This includes proper grounding and bonding of the sign.

GJF

B57458

4 9/10/2015 GJF

9/30/2014

ALST.CL.B.EL_24

ALST_CL ILL_14651

ALLSTATE

CUSTOMER:

JOB NUMBER:

DRAWN BY:

SIGN TYPE:

LOCATION: 

DATE:

REVISION:
Number: Date: By:

ENGINEER SEAL:

DWG NUMBER:

SHEET: ENG DEPT

ENGINEERING

SHOP

VINYL / LAYOUT

ROUTING / KNIFE 

1 of 1

Provide Surface Mounted
Water Proof Junction Box
With Tork 3000 Photocell.
Paint JB To Match Fascia.
Location Of Box To Be
Determined At Time Of
Install

Letter Faces To Be 1/8” Thick #2447 White
Acrylic w/ 1st Surface (DAY/NIGHT) Perforated
Opaque Vinyl (Blue #3944) To Match 3M
Translucent Sultan Blue Vinyl #3630-157

ALST.CL.B.EL_24
FRONT ELEVATION

Scale: 3/4” = 1’-0”

14' 1-11/16 Overall Length” 

4' 4-3/8" 9' 4-1/8"

3
' 5

-3
/8

"

2
4

”
2

4
”

Logo Face To Be 1/8” Thick #7328
White  Acrylic  With 3M Translucent
Sultan Blue Vinyl #3630-157 Applied
1st Surface 

STANDARD LETTER NOTES:  
 1.  Sufficient Primary Circuit In Vicinity Of Sign  
      By Others.  
 2.  Letter To Letter Wiring & Final Primary Hook-up
      By Sign Installer, Where Allowed By Local Codes.  
 3.  Sign Shall Be U.L. Listed.  
 4.  Mounting Hardware By Sign Installer. 
 5.  Full Size Drilling Template Furnished With Sign.

2  
02-04-15

ELECTRICAL LOAD
( ) Amps @ 120 Volts
ELECTRICAL REQ'MTS

(1) 20 Amp/120 Volt Circuits

1.16

LED Specifications:
1.  (2) 
      60 Watt LED Power Supply
2.  (90 Each) Bitro OmegaOPTICS
     Plus (OTSP-M3PL-BW65)
     White LEDs

BITRO - ASU-60-12U

2  
02-04-15

Metallic Silver Jewelite Trimcap
(Logo 1”, Letters 3/4”).
Attached Using Methylene Chloride
Followed By IPS Weld-On 40 with
#8 x ½” PH Phillips S.S. Screws
(as Required all Around)

Drain Slots in Backs of Letters

Chase Nipple & Coupling.
Seal all Penetrations

BITRO - ASU-60-12U
60 Watt LED Power Supply to
be Located in Metal Enclosure
(Per Code) Maximum (2) Power
Supplies Per Enclosure
(1.10 Amps Each)

Letter Faces to be 1/8” Thick #2447
White Acrylic w/ 1st Surface (DAY/
NIGHT) Perforated Opaque Vinyl
(Blue #3944) to Match 3M Translucent
Sultan Blue Vinyl #3630-157

Logo Face to be 1/8” Thick #7328
White Acrylic with 3M Translucent
Sultan Blue Vinyl #3630-157 Applied
1st Surface 

4” x .040 Precoat Silver Alum.
Coil Return Stapled to .040
Routed Aluminum Back.

Bitro OmegaOPTICS Plus
(OTSP-M3PL-BW65) White LED’s
as Required (0.90w ea.)

4" O.A.W.

LOCK
OFF

Lockable Disconnect Switch
to be Supplied by Others 
w/Primary Power
(Per Code)

Low Voltage Secondary 
Wiring: 3-Wire (PLTC) 
14 GA Supply Wire

½” dia Flexible Conduit 
for Primary Hook-up
(Per Code) 

SECTION
Scale: 3” = 1’-0”

Existing Wall Surface

1/2” x 1/2 Ø”  Nylon Spacer

16 Amp Shut-off Switch
Located at End of Enclosure

Attach to Wall with 3/8” dia.
Non-Corrosive Mounting
Hardware to Suit Wall

4  
09-10-15

3  
08-19-15

3mm Compbond (ACM) Backs
White Precoat













Note: This sign is intended to be installed in accordance with the requirements of
Article 600 of the National Electrical Code and/or other applicable local codes.
This includes proper grounding and bonding of the sign.

GJF

B57463

6 09/01/2017 JTR

9/30/2014

ALST.CL.RW.B.EL_24

ALLSTATE

CUSTOMER:

JOB NUMBER:

DRAWN BY:

SIGN TYPE:

LOCATION:

DATE:

REVISION:
Number: Date: By:

ENGINEER SEAL:

DWG NUMBER:

SHEET: ENG DEPT

ENGINEERING

SHOP

VINYL / LAYOUT

ROUTING / KNIFE

ELECTRICAL LOAD

ELECTRICAL REQ'MTS
( ) Amps @ 120 Volts

(1) 20 Amp/120 Volt Circuits

1.16

LED Specifications:
1. ( )

2. ( Each) Bitro OmegaOPTICS
Plus (OTSP-M3PL-BW65)
White LEDs

2

90

BITRO - ASU-60-12U
60 Watt LED Power Supply

1 of 1

Letter Faces to be 1/8” Thick #2447 White
Acrylic w/ (DAY/NIGHT) Perforated
Opaque Vinyl (Blue #3944) to Match

1st Surface
3M

Translucent Sultan Blue Vinyl #3630-157

Scale: 3/4” = 1’-0”

ALST.CL.RW.B.EL_24
FRONT ELEVATION

14' 1-11/16 Overall Length”

4' 4-3/8" 9' 4-1/8"

3
'5

-3
/8

"

Align Raceway Bottom with
Bottom of Crossbar in “A”

4-½” x 7-1/16” Aluminum Extruded
Raceway with Lid. Paint to Match
Fascia

2
4

”
2

4
”

13'-8" RW Length

Attach to Wall with 3/8” Diameter
Non-Corrosive Mounting Hardware
to Suit Wall Conditions
( )Minimum 8 Places

3/16” x 2” x 2” Steel
Angle Lifting Clip.
See Detail Below

Maxbrite
MB-TS20
Shut-off
Switch

Tork 3000
Photo Cell

Attach To Wall w/ 1/4” Dia.
Non-Corrosive All Thread
Inside Of 1” Dia. Pipe
Spacers Painted To Match
Raceway. (2) Places Behind
Top Of Logo.

Power out Center
of Back of RW

Logo Face to be 1/8” Thick #7328
White Acrylic with

Applied
1st Surface

3M Translucent
Sultan Blue Vinyl #3630-157

LIFTER DETAIL
Scale: 3” = 1’-0”

3/16” x 2” x 2” Steel
Angle Lifting Clip

5/8” dia. Hole

3/8” dia Bolt Into
Trap Nut

1” Tube Spacer

Face of Letter

Back of Letter

1/4” thk Aluminum
Flat Bar Welded in
at Lifting Points

STANDARD LETTER NOTES:
1. Sufficient Primary Circuit In Vicinity Of Sign

By Others.
2. Letter To Letter Wiring & Final Primary Hook-up

By Sign Installer, Where Allowed By Local Codes.
3. Sign Shall Be U.L. Listed.
4. Mounting Hardware By Sign Installer.
5. Full Size Drilling Template Furnished With Sign.

2
02-04-15

2
02-04-15

4” O.A.W.

Maxbrite
#MB-TS20
Shut-Off
Switch

4-½"
Raceway Depth

Letter Faces to be 1/8” Thick #2447
White Acrylic w/ (DAY/
NIGHT) Perforated Opaque Vinyl
(Blue #3944) to Match 3M

1st Surface

Trans.
Sultan Blue Vinyl #3630-157

Stapled Construction

Chase Nipple

Drain Slots in Backs of Letters

Metallic Silver Jewelite Trimcap
(Logo 2”, Letters 3/4”).
Attached Using Methylene Chloride
Followed by IPS Weld-On 40 with
#8 x ½” PH Phillips S.S. Screws
(as Required all Around)

Logo Face to be 1/8” Thick #7328
White Acrylic with 3M Translucent
Sultan Blue Vinyl #3630-157 Applied
1st Surface

Attach Letters to Raceway with
#10 x 3/4” Hex Head Screws

4” x .040 Precoat Silver Alum.
Coil Return Stapled to .040
Routed Aluminum Back.

SECTION
Scale: 3” = 1’-0”

Tork 3000 Photo Cell

Attach to Wall with 3/8” dia.
Non-Corrosive Mounting
Hardware to Suit Wall
Conditions
( )Minimum 8 Places

Attach to Wall w/ 1/4” dia.
Non-Corrosive All Thread
Inside of 1” Dia. Pipe
Spacers Painted to Match
Raceway. (2) Places Behind
Top of Logo.

Extruded Aluminum Mounting
Clips at Bottom of R/W. Paint
to Match Raceway

.040” Alum Bottom Tray

4-½” x 7-1/16”
Aluminum Raceway with
Lid. Paint to Match Fascia

Extruded

1/4” Thk Alum Flat Bar
Welded at Mounting Points

BITRO - ASU-60-12U
60 Watt LED Power Supply
(1.10 Amps Each)

Bitro OmegaOPTICS Plus
(OTSP-M3PL-BW65) White LED’s
as Required (0.90w ea.)

5
08-31-17

3
08-19-15

3mm Compbond (ACM) Backs
White Precoat

4
09-10-15

Extruded Aluminum Mounting
Clips at Top of R/W. Paint to
Match Raceway6

09-01-17


	Job Number: 
	Location: 


